CONTRACT NO. 8715

DATE: 2/23/23		Capitol Underground, Inc.		R. G. Huston Co., Inc.	Speedway Sand & Gravel, Inc.	Parisi Construction, LLC
Item	Quantity	Price	Extension	Price	Price	Price
Section B: Proposal Page 10701 - TRAFFIC CONTROL - LUMP SUM 10721 - TRAFFIC CONTROL SIGN - PORTABLE CHANGEABLE	1.00	\$4,000.00	\$4,000.00	\$4,000.00	\$4,000.00	\$4,200.00
MESSAGE - DAYS	14.00	\$65.00	\$910.00	\$65.00	\$65.00	\$69.00
10770 - MAINTAIN RESIDENTIAL DRIVEWAY ACCESS - EACH 10801 - ROOT CUTTING - CURB & GUTTER (UNDISTRIBUTED) -	1.00	\$1,050.00	\$1,050.00	\$550.00	\$987.00	\$4,700.00
L.F.	50.00	\$5.00	\$250.00	\$10.00	\$0.01	\$16.00
10802 - ROOT CUTTING - SIDEWALK (UNDISTRIBUTED) - L.F.	100.00	\$5.00	\$500.00	\$10.00	\$0.01	\$16.00
10911 - MOBILIZATION - LUMP SUM 20101 - EXCAVATION CUT	1.00	\$838,000.00	\$838,000.00	\$811,939.18	\$735,015.00	\$1,125,000.00
C.Y.	6930.00	\$27.70	\$191,961.00	\$35.50	\$43.00	\$23.00
20130 - UNDERDRAIN - L.F.	1380.00	\$15.60	\$21,528.00	\$20.00	\$18.50	\$19.00
20140 - GEOTEXTILE FABRIC TYPE SAS (NON-WOVEN)	4500.00	40.05	<b>040 004 50</b>	<b>#0.00</b>	<b>#0.05</b>	40.70
- S.Y.	4590.00	\$2.85	\$13,081.50	\$2.00	\$0.95	\$2.70
20204 - SELECT FILL - TON	20.00	\$23.30	\$466.00	\$22.00	\$30.00	\$17.25
20219 - BREAKER RUN - TON	3220.00	\$9.50	\$30,590.00	\$21.00 \$11.20	\$9.00	\$13.75
20221 - TOPSOIL - S.Y. 20223 - PLANTING MIX TOPSOIL - C.Y.	4320.00 30.00	\$10.40 \$115.00	\$44,928.00	\$11.20 \$120.00	\$7.05 \$55.00	\$5.70 \$38.75
20223 - PLANTING WIX TOPSOIL - C. Y. 20303 - SAWCUT ASPHALT PAVEMENT - L.F.	1240.00	\$3.00	\$3,450.00	\$120.00 \$1.35		
20303 - SAWCUT ASPHALT PAVEMENT - L.F. 20322 - REMOVE CONCRETE CURB & GUTTER - L.F.	860.00	\$5.35	\$3,720.00 \$4,601.00	\$1.35 \$6.35	\$2.00 \$4.58	\$2.10 \$4.50
20322 - REMOVE CONCRETE CORB & GOTTER - L.F. 20323 - REMOVE CONCRETE SIDEWALK & DRIVE - S.F.	5210.00	\$3.10	\$4,601.00 \$16,151.00	\$6.35 \$3.10	\$4.56 \$2.85	\$4.50 \$2.20
20323 - REMOVE CONCRETE SIDEWALK & DRIVE - S.F. 20324 - REMOVE CONCRETE STEPS - S.F.	20.00	\$26.00	\$520.00	\$3.10 \$16.40	\$2.65 \$10.00	\$2.20 \$10.75
20326 - REMOVE FENCE - L.F.	150.00	\$4.25	\$637.50	\$8.00	\$15.00	\$8.50
20401 - CLEARING - I.D.	186.00	\$21.50	\$3,999.00	\$32.00	\$21.50	\$22.75
20402 - GRUBBING - I.D.	186.00	\$21.50	\$3,999.00	\$32.00	\$21.50	\$22.75
20701 - TERRACE SEEDING - S.Y.	4080.00	\$2.05	\$8,364.00	\$3.50	\$1.90	\$2.20
21063 - EROSION MATTING, CLASS I, TYPE A - ORGANIC - S.Y.	4080.00	\$2.00	\$8,160.00	\$3.60	\$2.80	\$2.10
21301 - REMOVE AND REPLACE MAILBOX - EACH	48.00	\$265.00	\$12,720.00	\$180.00	\$190.00	\$330.00
21302 - CONSTRUCTION FENCE (PLASTIC) (UNDISTRIBUTED) - L.F.	100.00	<b>47.7</b> 5	Ф77E 00	¢E 00	ድደ ዕለ	<b>ሲ</b> ዕ 30
<del></del>	100.00	\$7.75	\$775.00	\$5.00	\$8.00	\$8.30
30201 - TYPE 'A' CONCRETE CURB & GUTTER - L.F.	5045.00	\$22.50	\$113,512.50	\$22.12	\$23.45	\$22.75
30203 - TYPE 'X' CONCRETE CURB & GUTTER - L.F. 30205 - TYPE 'E' CONCRETE CURB & GUTTER - L.F.	470.00 110.00	\$28.50 \$40.60	\$13,395.00 \$4,466.00	\$28.18 \$40.40	\$27.45 \$30.05	\$31.25 \$45.75

CONTRACT NO. 8715

DATE: 2/23/23		·	erground, Inc.	R. G. Huston Co., Inc.	Speedway Sand & Gravel, Inc.	Parisi Construction, LLC
Item	Quantity	Price	Extension	Price	Price	Price
30208 - HAND FORMED CONCRETE CURB & GUTTER - L.F.	30.00	\$41.00	\$1,230.00	\$40.40	\$36.95	\$42.75
30301 - 5" CONCRETE SIDEWALK - S.F.	17100.00	\$7.80	\$133,380.00	\$8.40	\$6.20	\$4.70
30302 - 7" CONCRETE SIDEWALK AND DRIVE - S.F.	7005.00	\$8.65	\$60,593.25	\$9.20	\$7.25	\$6.50
30311 - CONCRETE MOUNTABLE MEDIAN ISLAND NOSE - S.F.	45.00	\$14.00	\$630.00	\$14.14	\$12.50	\$10.50
30340 - CURB RAMP DETECTABLE WARNING FIELD - S.F.	160.00	\$40.00	\$6,400.00	\$40.40	\$51.00	\$48.00
30451 - BOULDER RETAINING WALL - S.F.	170.00	\$48.50	\$8,245.00	\$60.00	\$60.00	\$51.00
40101 - CRUSHED AGGREGATE BASE COURSE GRADATION NO.						
1 - TON	3100.00	\$21.15	\$65,565.00	\$28.25	\$11.00	\$19.75
40102 - CRUSHED AGGREGATE BASE COURSE GRADATION NO.						
2 OR NO. 3 - TON	4300.00	\$21.15	\$90,945.00	\$28.25	\$22.50	\$15.00
40202 - HMA PAVEMENT 4 LT 58-28 S - TON	1740.00	\$76.20	\$132,588.00	\$76.97	\$76.20	\$81.00
40218 - TACK COAT - GAL.	590.00	\$2.00	\$1,180.00	\$2.02	\$2.00	\$2.10
40221 - MACHINE LAID ASPHALT CURB - L.F.	880.00	\$1.55	\$1,364.00	\$1.57	\$1.55	\$1.60
40231 - ASPHALT DRIVE & TERRACE - S.Y.	270.00	\$41.00	\$11,070.00	\$52.00	\$22.00	\$23.25
40311 - PULVERIZE AND SHAPE - S.Y.	740.00	\$5.00	\$3,700.00	\$5.00	\$12.00	\$4.90
40410 - CONCRETE SPEED HUMP - S.Y.	110.00	\$130.00	\$14,300.00	\$145.00	\$120.00	\$100.00
60800 - PAVEMENT MARKING EPOXY, LINE, 4-INCH - L.F.	390.00	\$6.00	\$2,340.00	\$4.35	\$3.00	\$6.40
60812 - PAVEMENT MARKING EPOXY, CROSSWALK, 6-INCH - L.F. 60816 - PAVEMENT MARKING EPOXY, CONTINENTAL	80.00	\$9.00	\$720.00	\$6.55	\$4.50	\$9.50
CROSSWALK, 18-INCH - L.F.	312.00	\$15.00	\$4,680.00	\$19.55	\$14.00	\$16.00
60818 - PAVEMENT MARKING EPOXY, STOP LINE, 24-INCH - L.F.	78.00	\$18.00	\$1,404.00	\$25.95	\$15.00	\$19.00
70104 - ADJUST VALVE BOX - EACH	32.00	\$195.00	\$6,240.00	\$120.00	\$281.00	\$320.00
90001 - INCENTIVE FOR USE OF CONCRETE WITH CARBONIZED	02.00	Ψσσ.σσ	ψο,= :0:00	ų . <u>_</u> 0.00	Ψ=000	Ψ0=0.00
TREATMENT - LUMP SUM	1.00	\$15,000.00	\$15,000.00	\$15,000.00	\$10,000.00	\$15,000.00
90002 - BARK MULCH - S.Y.	540.00	\$1.75	\$945.00	\$16.00	\$11.75	\$1.90
90003 - REMOVE, SALVAGE, AND REINSTALL RETAINING WALL	0.0.00	<b>Vv</b>	ψο .σ.σσ	ψ.σ.σσ	Ψσ	Ψσσ
(UNDISTRIBUTED) - S.F.	50.00	\$60.00	\$3,000.00	\$66.00	\$60.00	\$130.00
90004 - TEMPORARY MAILBOX - EACH	48.00	\$160.00	\$7,680.00	\$115.00	\$190.00	\$50.00
90005 - REMOVE AND SALVAGE BRICK PAVERS - S.F.	45.00	\$28.45	\$1,280.25	\$25.00	\$30.00	\$23.25
90006 - GEOSYNTHETIC REINFORCEMENT FABRIC	10.00	Ψ20.10	ψ1,200.20	Ψ20.00	Ψ00.00	Ψ20.20
(UNDISTRIBUTED) - S.Y.	1500.00	\$5.65	\$8,475.00	\$7.60	\$6.80	\$6.40
90007 - ADJUST WATER SERVICE BOX - EACH	57.00	\$195.00	\$11,115.00	\$150.00	\$270.00	\$160.00
COOST ABOUT MAILINGERON EACH	07.00	Ψ100.00	ψ11,110.00	ψ100.00	Ψ210.00	ψ100.00

CONTRACT NO. 8715

DATE: 2/23/23		Canital Unde	erground, Inc.	R. G. Huston	Speedway Sand &	Parisi
		Capitoi Unde	erground, inc.	Co., Inc.	Gravel, Inc.	Construction, LLC
Item	Quantity	Price	Extension	Price	Price	Price
90008 - 7" COLORED CONCRETE - S.F.	205.00	\$19.20	\$3,936.00	\$20.18	\$12.05	\$15.75
90009 - PAVEMENT MARKING EPOXY, SPEED HUMP ARROW -						
EACH	4.00	\$300.00	\$1,200.00	\$225.00	\$200.00	\$320.00
20217 - CLEAR STONE - TON	532.00	\$16.50	\$8,778.00	\$24.00	\$25.00	\$19.50
21002 - EROSION CONTROL INSPECTION - EACH	4.00	\$240.00	\$960.00	\$50.00	\$500.00	\$320.00
21011 - CONSTRUCTION ENTRANCE - EACH	3.00	\$520.00	\$1,560.00	\$600.00	\$555.00	\$160.00
21012 - STREET CONSTRUCTION STONE BERM - EACH	4.00	\$520.00	\$2,080.00	\$250.00	\$500.00	\$240.00
21013 - STREET SWEEPING - LUMP SUM	1.00	\$10,000.00	\$10,000.00	\$5,000.00	\$9,000.00	\$1,600.00
21014 - CLEAR STONE BERM (DITCH CHECK) - EACH	25.00	\$385.00	\$9,625.00	\$175.00	\$275.00	\$160.00
21018 - SILT SOCK (8 INCH) - PROVIDE, INSTALL, & MAINTAIN -						
L.F.	800.00	\$6.90	\$5,520.00	\$9.00	\$7.00	\$7.30
21019 - SILT SOCK (8 INCH) - REMOVE & RESTORE - L.F.	800.00	\$2.00	\$1,600.00	\$1.00	\$1.00	\$2.10
21031 - INLET PROTECTION TYPE C (UNDISTRIBUTED) - EACH	4.00	\$250.00	\$1,000.00	\$300.00	\$150.00	\$385.00
21049 - INLET PROTECTION, RIGID FRAME - PROVIDE AND						
INSTALL - EACH	59.00	\$360.00	\$21,240.00	\$395.00	\$380.00	\$400.00
21050 - INLET PROTECTION, RIGID FRAME - MAINTAIN - EACH	59.00	\$40.00	\$2,360.00	\$10.00	\$100.00	\$100.00
21051 - INLET PROTECTION, RIGID FRAME - REMOVE - EACH	59.00	\$50.00	\$2,950.00	\$35.00	\$50.00	\$125.00
50401 - 12 INCH TYPE I RCP STORM SEWER PIPE - L.F.	847.00	\$70.00	\$59,290.00	\$105.00	\$114.38	\$120.00
50741 - TYPE H INLET - EACH	45.00	\$3,350.00	\$150,750.00	\$3,200.00	\$3,649.00	\$3,800.00
50761 - SADDLED INLET TYPE I - EACH	1.00	\$4,700.00	\$4,700.00	\$3,200.00	\$3,649.00	\$3,100.00
20311 - REMOVE SEWER ACCESS STRUCTURE - EACH	13.00	\$950.00	\$12,350.00	\$700.00	\$715.00	\$650.00
20312 - REMOVE CATCHBASIN - EACH	3.00	\$950.00	\$2,850.00	\$630.00	\$675.00	\$650.00
20313 - REMOVE INLET - EACH	16.00	\$610.00	\$9,760.00	\$630.00	\$625.00	\$650.00
20314 - REMOVE PIPE - L.F.	1007.00	\$37.70	\$37,963.90	\$38.00	\$29.00	\$24.50
20336 - PIPE PLUG (STORM) - EACH	8.00	\$406.00	\$3,248.00	\$615.00	\$432.00	\$160.00
20501 - ADJUST SEWER ACCESS STRUCTURE - EACH	7.00	\$430.00	\$3,010.00	\$1,240.00	\$450.00	\$690.00
20503 - ADJUST INLET - EACH	1.00	\$430.00	\$430.00	\$330.00	\$405.00	\$460.00
50202 - TYPE II DEWATERING - L.S.	1.00	\$0.01	\$0.01	\$100.00	\$1,000.00	\$500.00
50211 - SELECT BACKFILL FOR STORM SEWER - T.F.	3621.00	\$0.01	\$36.21	\$0.01	\$0.10	\$1.00
50390 - SEWER ELECTRONIC MARKERS						
(STORM)(UNDISTRIBUTED) - EACH	35.00	\$33.15	\$1,160.25	\$40.00	\$56.00	\$120.00
50402 - 15 INCH TYPE I RCP STORM SEWER PIPE - L.F.	122.00	\$79.25	\$9,668.50	\$113.00	\$119.41	\$100.00
50403 - 18 INCH TYPE I RCP STORM SEWER PIPE - L.F.	720.00	\$83.25	\$59,940.00	\$117.00	\$124.76	\$120.00

CONTRACT NO. 8715

DATE: 2/23/23		Capitol Underground, Inc.		R. G. Huston Co., Inc.	Speedway Sand & Gravel, Inc.	Parisi Construction, LLC
Item	Quantity	Price	Extension	Price	Price	Price
50404 - 21 INCH TYPE I RCP STORM SEWER PIPE - L.F.	198.00	\$84.00	\$16,632.00	\$130.00	\$129.37	\$120.00
50405 - 24 INCH TYPE I RCP STORM SEWER PIPE - L.F.	883.00	\$97.00	\$85,651.00	\$140.00	\$131.37	\$140.00
50407 - 30 INCH TYPE I RCP STORM SEWER PIPE - L.F.	117.00	\$1,250.00	\$146,250.00	\$164.00	\$170.56	\$200.00
50409 - 36 INCH TYPE I RCP STORM SEWER PIPE - L.F.	219.00	\$150.00	\$32,850.00	\$193.00	\$203.00	\$210.00
50411 - 48 INCH TYPE I RCP STORM SEWER PIPE - L.F.	53.00	\$203.00	\$10,759.00	\$259.00	\$203.18	\$310.00
50421 - 29 INCH X 45 INCH TYPE I HERCP STORM SEWER PIPE -						
L.F.	270.00	\$182.00	\$49,140.00	\$242.00	\$254.55	\$250.00
50423 - 38 INCH X 60 INCH TYPE I HERCP STORM SEWER PIPE -						
L.F.	174.00	\$236.00	\$41,064.00	\$303.00	\$443.00	\$310.00
50499 - CONCRETE COLLAR - EACH	4.00	\$520.00	\$2,080.00	\$450.00	\$777.00	\$510.00
50723 - 3'X3' STORM SAS - EACH	32.00	\$4,800.00	\$153,600.00	\$4,800.00	\$6,156.00	\$5,300.00
50724 - 4'X4' STORM SAS - EACH	3.00	\$7,400.00	\$22,200.00	\$6,150.00	\$5,925.00	\$7,000.00
50725 - 5'X5' STORM SAS - EACH	5.00	\$8,750.00	\$43,750.00	\$7,725.00	\$7,510.00	\$8,200.00
50792 - STORM TAP - EACH	3.00	\$1,650.00	\$4,950.00	\$800.00	\$2,400.00	\$1,400.00
50801 - UTILITY LINE OPENING (ULO) (UNDISTRIBUTED) - EACH	70.00	\$700.00	\$49,000.00	\$935.00	\$800.00	\$820.00
70101 - FURNISH AND INSTALL STYROFOAM - EACH	70.00	\$180.00	\$12,600.00	\$125.00	\$200.00	\$27.00
90030 - MODIFIED 4'X7' STORM SAS - EACH	1.00	\$8,150.00	\$8,150.00	\$11,400.00	\$7,670.00	\$12,100.00
90031 - 5'X7' STORM SAS - EACH	1.00	\$9,950.00	\$9,950.00	\$12,000.00	\$9,292.00	\$10,000.00
90032 - RELOCATE WATER LATERAL SERVICE - EACH	14.00	\$1,900.00	\$26,600.00	\$1,300.00	\$1,195.00	\$500.00
90033 - RELOCATE WATER MAIN - EACH	26.00	\$3,000.00	\$78,000.00	\$6,880.00	\$2,191.00	\$1,500.00
20331 - ABANDON SEWER ACCESS STRUCTURE						
(UNDISTRIBUTED) - EACH	1.00	\$1,150.00	\$1,150.00	\$960.00	\$650.00	\$650.00
20335 - ABANDON SEWER PIPE WITH SLURRY - C.Y.	4.25	\$1,700.00	\$7,225.00	\$1,765.00	\$785.00	\$520.00
50103 - RECONSTRUCT BENCH AND FLOWLINE(S) - EACH	4.00	\$1,015.00	\$4,060.00	\$1,300.00	\$3,000.00	\$1,300.00
50203 - UNDERCUT FOR SANITARY SEWER - C.Y.	130.00	\$50.00	\$6,500.00	\$76.00	\$120.00	\$160.00
50212 - SELECT BACKFILL SANITARY SEWER - T.F.	1681.00	\$0.01	\$16.81	\$0.01	\$0.10	\$1.00
50301 - 8 INCH PVC SEWER PIPE - L.F.	917.00	\$125.00	\$114,625.00	\$184.00	\$360.06	\$280.00
50303 - 12 INCH PVC SANITARY SEWER PIPE - L.F.	385.00	\$190.00	\$73,150.00	\$255.00	\$481.29	\$520.00
50353 - SANITARY SEWER LATERAL - L.F.	382.00	\$60.00	\$22,920.00	\$46.00	\$71.12	\$34.00
50356 - RECONNECT - EACH	12.00	\$3,600.00	\$43,200.00	\$5,250.00	\$5,218.90	\$10,000.00
50361 - WASTEWATER CONTROL - L.S.	1.00	\$19,500.00	\$19,500.00	\$6,000.00	\$5,000.00	\$3,200.00
50701 - 4' DIA SANITARY SAS - EACH	11.00	\$5,700.00	\$62,700.00	\$5,000.00	\$11,348.00	\$7,100.00
50702 - 5' DIA SANITARY SAS - EACH	2.00	\$15,750.00	\$31,500.00	\$10,300.00	\$16,868.00	\$15,200.00

CONTRACT NO. 8715

DATE: 2/23/23	_	·	erground, Inc.	R. G. Huston Co., Inc.	Speedway Sand & Gravel, Inc.	Parisi Construction, LLC
Item	Quantity	Price	Extension	Price	Price	Price
50771 - INTERNAL CHIMNEY SEAL - EACH	2.00	\$530.00	\$1,060.00	\$400.00	\$431.50	\$390.00
50783 - INSIDE DROP - V.F.	28.49	\$325.00	\$9,259.25	\$295.00	\$403.55	\$390.00
50791 - SANITARY SEWER TAP - EACH	9.00	\$1,570.00	\$14,130.00	\$1,470.00	\$1,850.70	\$3,300.00
50797 - EXTERNAL SEWER ACCESS STRUCTURES JOINT SEAL -		<b>^</b>	** ***		****	****
EACH	5.00	\$775.00	\$3,875.00	\$460.00	\$600.00	\$140.00
90034 - ADJUST LATERAL W/RISER (5312 & 5316 LMD) - EACH	2.00	\$4,100.00	\$8,200.00	\$2,270.00	\$614.00	\$2,700.00
90035 - ADJUST MMSD SANITARY ACCESS STRUCTURE - EACH	1.00	\$560.00	\$560.00	\$2,400.00	\$1,975.00	\$4,400.00
70002 - FURNISH AND INSTALL 6 INCH PIPE & FITTINGS - L.F.	180.00	\$116.00	\$20,880.00	\$166.00	\$182.16	\$220.00
70003 - FURNISH AND INSTALL 8 INCH PIPE & FITTINGS - L.F.	100.00	\$163.00	\$16,300.00	\$234.00	\$249.05	\$270.00
70005 - FURNISH AND INSTALL 12-INCH PIPE & FITTINGS - L.F.	50.00	\$405.00	\$20,250.00	\$540.00	\$373.72	\$350.00
70032 - FURNISH AND INSTALL 6-INCH WATER VALVE - EACH	5.00	\$3,185.00	\$15,925.00	\$2,635.00	\$4,126.00	\$3,600.00
70033 - FURNISH AND INSTALL 8-INCH WATER VALVE - EACH	1.00	\$3,830.00	\$3,830.00	\$3,540.00	\$4,944.00	\$4,300.00
70034 - FURNISH AND INSTALL 12-INCH WATER VALVE - EACH	2.00	\$6,215.00	\$12,430.00	\$6,000.00	\$7,524.00	\$7,000.00
70040 - FURNISH, INSTALL AND SALVAGE HYDRANT - EACH	3.00	\$6,850.00	\$20,550.00	\$7,000.00	\$9,473.00	\$6,600.00
70056 - RECONNECT 1-INCH SERVICE LATERAL - EACH	1.00	\$2,350.00	\$2,350.00	\$2,100.00	\$4,604.00	\$1,800.00
70080 - CUT-IN OR CONNECT TO EXISTING WATER SYSTEM -						
EACH	10.00	\$1,850.00	\$18,500.00	\$3,780.00	\$2,600.00	\$2,500.00
70090 - ABANDON WATER VALVE BOX - EACH	1.00	\$290.00	\$290.00	\$140.00	\$900.00	\$480.00
70111 - FURNISH & INSTALL ANODE - EACH	9.00	\$205.00	\$1,845.00	\$550.00	\$607.00	\$260.00
90020 - ABANDON & SALVAGE HYDRANT - EACH	1.00	\$1,900.00	\$1,900.00	\$445.00	\$1,700.00	\$1,200.00
20101.1 - EXCAVATION CUT (FOR STORMWATER FEATURES) -						
C.Y.	203.00	\$45.25	\$9,185.75	\$43.00	\$40.00	\$31.25
20223.1 - PLANTING MIX TOPSOIL (FOR STORMWATER						
FEATURES) - C.Y.	76.00	\$36.50	\$2,774.00	\$120.00	\$46.00	\$38.75
20225 - ENGINEERED SOIL - TON	61.00	\$106.00	\$6,466.00	\$80.00	\$26.00	\$65.00
21110 - TERRACE RAIN GARDEN - S.F.	796.00	\$26.55	\$21,133.80	\$20.65	\$25.00	\$1.50
50321 - 8 INCH PVC PRESSURE SEWER PIPE (STORM) - L.F.	221.00	\$71.50	\$15,801.50	\$97.00	\$153.59	\$47.50
90036 - HYBRID TURF INSTANT ARMOR MAT WITH NATIVE SEED	-					
SY	29.00	\$96.00	\$2,784.00	\$60.00	\$60.00	\$100.00
90037 - 8" DOME GRATE ASSEMBLY - EACH	2.00	\$680.00	\$1,360.00	\$150.00	\$1,055.00	\$1,100.00
90038 - 8" SCH 35 SWEEP AND CLEANOUT - EACH	3.00	\$855.00	\$2,565.00	\$860.00	\$1,150.00	\$1,200.00
90039 - 8" DRILLED PVC UNDERDRAIN - L.F.	18.00	\$62.00	\$1,116.00	\$35.00	\$58.01	\$53.00

CONTRACT NO. 8715

DATE: 2/23/23

DATE: 2/23/23		Capitol Underground, Inc.		R. G. Huston Co., Inc.	Speedway Sand & Gravel, Inc.	Parisi Construction, LLC
Item	Quantity	Price	Extension	Price	Price	Price
90040 - PEA GRAVEL - C.Y.	2.00	\$76.00	\$152.00	\$270.00	\$100.00	\$220.00
50722 - 6'X6' CATCHBASIN - EACH	3.00	\$13,600.00	\$40,800.00	\$15,000.00	\$14,975.00	\$11,700.00
141 Items	Totals		\$3,823,814.98	\$4,197,000.00	\$4,300,769.23	\$4,350,307.10